RESEARCH ARTICLE

FORMULATIONANDEVALUATIONOFHERBALSUNSCREEN CREAM

Jyotsna A Saonere*, S.L.Deore, B. C A.Bawiskar

Govt. Polytechnic, Gadge nagar, Amravati (Maharashtra State)

Corresponding author: Miss Jyotsna A Saonere

ABSTRACT

The aim of present research work was formulation, evaluation and determination of Sun protection factor of polyhebal sunscreen cream containing oil of *Daucus carrota, Simondsia chinensis,Triticum astevum,Olea europaea.* On chronic exposure to sun light it causes dilation of blood vessel results in erythema,oedema,suntan, prematuared skin ageing and may increase the risk of skin cancer. Herbal phytoconstituent sunscreen agents either reflect or absorbed UV radiation before reaching to the skin. In this study sun protection factor of formulation was determined by in vitro method spectrophotometrically, two formulations F1 and F2 were prepared by using different concentration of above four herbal oil .they were evaluated for stability,irritation, consistency, homogeneity and pH. Results showed that both F1 and F2 has good stability, homogeneity, good consistency, no irritation occurred and no evidence of phase separation. When compared with marketed formulation it showed good sunscreen activity specially F1 formulation

KEY WORDS: Daucus carrota, Simondsia chinensis, Triticum astevum, Olea europaea, sunscreen

INTRODUCTION

The skin is one of the largest organs in the body in surface area and weight [1].Sun rays adversely affect the skin, harmful effects of solar radiation on the skin are premature aging or cutaneous cancer ,basal cell carcinoma, sunburns, malignant melanomas [2]. Solar light consists of different radiations range are UVA in the 320- 400, UVB-290-320 and UVC- 100-290 nm range respectively. Since long time of period cosmetics products are apply on the body for the purpose of nourishing, to reduce hyper pigmentation and skin wrinkling, cleansing, beautifying, protection or altering appearance and enhancing the beauty.

The herbal phytoconstituents or herbal extracts act on this particular area and produce antioxidant effect, relieving erythema, healing, softening, rejuvenating and sunscreen effect. The photoprotective phytoconstituents such as silymarin, geinstein, curcumin, resveratrol, tea polyphenols, , quercetin,flavonoids,glycerrhinitic acid and ascorbic acid which are used for the development of herbal cosmetic formulation.

Daucus carrota contain high concentration of B-carotene which is precursor of vit.A, it also contain vit.B1,B2,B5,B6,B9 and Vit E and vit C which has good antioxidant activity which prevent wrinkle and gives anti ageing property[19,20,21,22,23]

Simmondsia chinensis has been widely used for its antinflamatory, hair conditioning, sunscreeneffect, antibacterial, antifungal, antioxidant, antageing purpose [16,17,18].

Olea europaea contain Vit.E, Vit.K, thiamine, flavons, flavonols, which act as a good antioxidant, antinflammatory, antageing, protective effectonskin, photoprotective [24,25,26,27,28,29].

Triticum astevum contain Vit.C,Vit.E,Vit.B1,B2,B3,B6,B12 etc. Which is used in many skin problems, acne,antioxidant,antiageing [30,31,32,33].

The purpose of these study to develop herbal sunscreen cream by mixing carrot seed oil, wheat germ oil, jojoba oil and olive oil in different concentration to produce multipurpose effect on skin with potential sunscreen effect.

Sun protection Factor- The efficacy of a sunscreen is usually expressed by the sun protection factor. Sun protection factor is defined as UV energy which is required to produce a minimal erythema dose(MED) on protected skin, divided by the UV energy required to produce a MED on unprotected skin

It is necessary to standardize the methods which are used to determine the SPF of the sunscreen products.SPF of topical sunscreens against solar ultraviolet radiation exposure can be determined in vivo or in vitro[3,4].

1.1 In Vitro Determinaton of Sun Protection Factor-

There are two methods -

1) Transpore Tape method-

It is a surgical tape manufactured by 3M company SPF is determined by using the PerkinElmer LAMBDA 1050 which is equipped with a 150 mm integrating sphere will be use to collect the scatter transmission data for sunscreen which is placed on a tape substrate. Testing of sunscreen on a tape model of human skin which is use to calculate the SPF value is more convenient and economical than testing on human skin. There were different brands of surgical tape were measured (in trans-mission) to determine which was the best brand representation of human skin. By using surgical tape sunscreen testing allows to be performed on a substitute for human skin, which is much safer than testing the product on actual skin.

2) Spectrophotometric evaluation-

This method which involve the measurement of absorption or the transmission of UV radiation through sunscreen formulation. in which the absorption characteristics of the sunscreens agents are determined on spectrophotometric analysis of dilute solutions of sunscreen [5,6,7,8] Mansur et al. (1986), developed a very simple mathematical expression which substitutes the *in vitro* method which is proposed by Sayre et al., (1979), Sun protection factor calculated by using the following equation and utilizing UV spectrophotometry

SPF = CF X
$$\sum_{290}^{320}$$
 EE(%) X 1 (%) Abs (%)

Where: EE (l) – erythemal effect spectrum;

I (1) – solar intensity spectrum;

Abs (1) - absorbance of sunscreen product

CF – correction factor (= 10).

The values of EE x I are constants.

This were determined by Sayre et al. (1979), and are showed below in Table 1

TABLE 1 Normalized product function which are used in the calculation of SPF (S	ayre
et al., 1979)	

Wavelength (λ nm)	EE x I (normalized)
290	0.0150
295	0.0817
300	0.2874
305	0.3278
310	0.1864
315	0.0839
320	0.0180
Total	1

Where EE – erythemal effect spectrum; I – solar intensity spectrum Material and Method-

Carrotseed oil, wheatgerm oil, olive oil and jojoba oil

Instruments- Instruments used are pH meter, UV-spectrophotometer, stability chamber

1.2 Formulation of Herbal Cream[9,10,11]: Table 2: Formulation of Herbal Sunscreen

Sr.	Ingredients	Quantity in Grams		Use
No.		Formulation I	Formulation II	
1	Wheat germ oil	1.5 %	2%	Sunscreen Agent
2	Carrot seed oil	0.25 %	0.5%	Sunscreen Agent
3	Olive oil	0.25%	0.5%	Sunscreen Agent
4	Jojoba oil	0.25	0.5%	Sunscreen Agent
5	Cetosteryl alcohol	5 %	5 %	Emulsifier
6	Stearic acid	2 %	2 %	Emollient, Co-emulsifier
7	Cetyl alcohol	1 %	1 %	Emollient, Co-emulsifier
8	Poly Ethylene Glycol 200	2%	2%	Emulsifier
9	Carbopol 940	0.5 %	0.5 %	Gelling Agent
10	Disodium EDTA	0.02%	0.02%	Chelating Agent
11	Sodium methyl Paraben	0.3 %	0.3 %	Preservative
12	Propyl Paraben	0.06 %	0.06 %	Preservative
13	Triethanolamine	0.5 %	0.5 %	Surfactant
14	Distilled water	qs to 100	qs to 100	Vehicle

Procedure:

Step I: Aqueous Phase Preparation:

Disodium EDTA, Sodium Methyl Paraben and Triethanolamine weighed accurately and dissolved in Deionized Water; meanwhile, Carbopol was added to swell using a homogenizer and heated up to 80° C.

Step II: Oil Phase Preparation:

Sodium propyl paraben, Stearic acid, Cetyl alcohol, Polyethylene glycol, Cetostearyl alcohol and respective quantities oils; carrot seed oil, wheatgerm oil, jojoba oil and olive oil weighed accurately and mixed and heated at 80° C.

Step III: Mixing Phase:

Oil phase was added to aqueous phase at 80°c with continuous stirring for 20-25 min and then it was homogenized till uniform emulsion formed. It was then poured into the wide mouth container and stored at temperature not exceeding 37° C.

1.2 Evaluation of sunscreen cream-

Determination of pH-pH of cream was determined by using standard buffer solution. About 0.5 g of the cream was weighed and dissolved in 50.0 ml of distilled water and its pH was measured[14].Results are shown in table no.6

Irritancy test: Mark an area up to (1sq.cm) on the left hand dorsal surface. The cream was applied to the specified area and time was noted. Irritancy, erythema, edema, was checked if any for regular intervals up to 24 hrs and reported[14]

Homogenicity- Homogenicity measured by visual appearance and touch. . Results are shown in table no.3

Thermal Stability - In this a 20 mm broad and 5 mm stripe of cream were spread on the internal wall of the chamber of 100 ml capacity, in its total heights. Kept the beaker for 8 hrs in humidity chamber at 60-70% RH and temperature $37 \pm 1^{\circ}$ C. To pass the test there should not be any oil separation in the cream[14].The results are shown in the table no.5.

Appearance-Appearance of cream is measured by visual inspection by its color. Results are shown in table no.3

In-vitro determination Sun Protection Factor of formulated creams : Procedure:

1 gm quantity of formulated cream was weighed, transferred to 100 ml volumetric flask and diluted to volume with ethanol. Further, it was kept for ultra-sonication for 5 minutes and filtered through cotton filter, discarded the initial 10 ml. Afterwards 5 ml aliquot was transferred to 25 ml volumetric flask and the volume was adjusted with ethanol. The absorption spectra of samples in solution were obtained in the range of 290-450 nm using 1 cm quartz cell and ethanol as blank. The absorption data obtained in the range of 290-320 nm every 5 nm interval and 3 determinations were made at each point [15]. Results are shown in table no.7 and 8.

2.2 Result and discusion:

2.2.1 Physical Parameters:

Table 3. Determination of physical Parameters

Formulation	Appearance	Colour	Homogeneity
Ι	Cream like	Yellowish white	Uniform and
			Homogeneous
II	Cream like	Yellowish white	Uniform and
			Homogeneous
Base	Cream like	White	Uniform and
			Homogeneous

Table 4. Determination of subjective properties:

Parameter		Formulation		
		Ι	II	Base
Consistency		Good	Good	Good
Texture		Smooth	Smooth	Smooth
Irritation,	Erythema,	No	No	No
Edema				

Table 5. Determination of Thermal Stability

Formulation	Ι	II
Observation	No Phase Separation	No Phase Separation
Inference	Thermally Stable	Thermally Stable

Table 6. Determination of pH

Formulation	Ι	II
рН	6.6	6.7

2.3: SPF Determination of Cream Formulations

Table7 SPF Determination of Formulation I Wavelength (nm) FF (i) × I (i) Absorb

Wavelength (nm)	EE $(\lambda) \times I(\lambda)$	Absorbance (λ)	EE $(\lambda) \times I(\lambda) \times Abs(\lambda)$
290	0.1864	2.9140	0.543169
295	0.0817	3.4743	0.283850
300	0.2874	1.0346	0.29734
305	0.3278	1.1393	0.37346
310	0.0150	3.324	0.04986
315	0.0839	2.8033	0.23519
320	0.0839	2.8856	0.24210
	Total = 1		Total- 2.024969
			SPF=20.02

Wavelength	EE (λ) × I (λ)	Absorbance (λ)	EE $(\lambda) \times I(\lambda) \times Abs(\lambda)$
(nm)			
290	0.3278	1.0413	0.341338
295	0.0817	3.675	0.30024
300	0.2874	0.9246	0.265730
305	0.0150	3.2733	0.049099
310	0.1864	3.1486	0.586899
315	0.0180	2.6106	0.213547
320	0.0180	3.0563	0.0550134
	Total = 1		Total- 1.8118664
			SPF = 18.11 = 18

Table 8. SPF Determination of Formulation II

 Table 9. SPF Determination of Marketed Formulation

Wavelength (nm)	EE $(\lambda) \times I(\lambda)$	Absorbance (λ)	EE $(\lambda) \times I(\lambda) \times Abs(\lambda)$
290	0.0150	3.324	0.05136
295	0.0817	3.675	0.30024
300	0.2874	1.0346	0.29734
305	0.3278	1.1393	0.37346
310	0.1864	2.8140	0.52452
315	0.0839	2.8033	0.23519
320	0.0180	2.6106	0.04699
	Total = 1		Total=1.829
			SPF=18.29

CONCLUSION-

The production of free radicals in the body causes oxidative stress and oxidative photo damage of macromolecules and plasma membrane components in the skin. Which further leads to premature aging of the skin and characterized by the rough skin textures and wrinkles. Sun Protection Factor is the quantitative measurement of the effectiveness of the sunscreen formulation. All this four oil has good sunscreen activity and can be considered as active sunscreen agent and antiageing agent or can be incorporated into other sunscreen formulations as an additive to enhance the activity. From the above discussion it is concluded that on combining all the four oil in different ratio, it increase the efficacy of sunscreen activity of herbal oils as compared to single oil In this regard we mixed the carrot seed oil, wheatgerm oil,olive oil and jojoba oil in different ratio to get multipurpose effect such as whitening, antiwrinkle, antiaging and sunscreen effect on skin. B-carotene is the most abundant and most efficient precursor of vitamin A which is present in Daucus carota oil. B-carotene is a radical scavenger, quenching singlet oxygen and free radicals without damaging to cells and tissue. Hence it used as UV protection of skin. B-carotene, Vit E, Vit A and proteins, vitamins (including B1, B2, B3, B6, C, and folic acid) and minerals and other nutrient present in carrot oil wheat germ oil, olive and jojoba oil are capable to nourished and these nutrients beneficially may work synergistically to soothe, heal, moisturize and regenerate the skin and increase cell turn-over and regeneration in

the outer layers of the skin, making it effective for diseases and skin conditions related to epithelium damage. They act as antioxidant to protect the skin from sun damage and their ability to help even the skin tone and act as an active anti-aging ingredient. From the results obtained it is evident that the prepared herbal creams, spatially F I formulation have desirable Sun Protection effect. From the above it concluded that this herbal sunscreen cream has good promising sunscreen effect.

REFERENCES-

1. Tortora GJ. and Grabowski SR.Principles of Anatomy and Physiology. HarperCollins College Publishers 1993.

2. COLIPA Guidelines: Guidelines For The Colorimetric Determination of a Skin Color Typing and prediction of The Minimal Erythemal Dose Without UV Exposure. 2007; 1-9

3. Wood C, Murphy E. Sunscreens efficacy. Glob.Cosmet. Ind.Duluth, v. 167, p. 38-44, 2000

4. Aevedo J S, Vianajunior N S, Soares C D. UVA/UVB sunscreen determination by second-order d derivative ultraviolet spectrohotometry.Farmaco,Pavia,v. 54, p.573-578, 1999

5. Patil RB ,Kale S,Badiyani MD ,Yadav AV .Determination of in vitro sun protection factor of Murraya koenigii essential oil formulation.Indian J.Pharm.Educ.Res. 2010;44(4).

- 6. Waje A,Kale S,Ansari A ,Ghoge P,Sonawane A. Formulation and in vitro determination of sun protection factor of Apium graveolens seed oils sunscreen cream.Int.J.Pharm.Res.2010;2(4),26-29.
- 7. Deep Kaur C, Saraf S. Photochemoprotective activity of alcoholic extract of camellia Sinensis.Int.J.Pharmacology.2011; 7(3); 400-404
- 8. Golmohammadzadeh S, Reza Jaafari M, Hosseinazadeh H.Does Saffron have antisolar and moisturizing effects.Iranian J.Pharma Res.2010; 9(2), 133-140.

9. James Swarbick, James C.Boylan. Encyclopedia of Pharmaceutical Technology Spinger-Link; Vol. 14:44,45.

10. Sarafarz K Niazi.Handbook of Pharmaceutical manufacture,Formulation of Semisolid products.CRC pressVol.4:121-122,130,132,142-14

11. D P Kohli, DH Shah, Drug Formulation Manual; Topical preparation: 148, 155, 576

12. B Sagarian.Cosmetic Science and Technology,2nd edition,Vol.2:621.

13. Shende MA,Chakole CM and Khadatkar SN,Formulation and evaluation of novel combined halobetasol propionate andfusidic acid ointment,International Journal of ChemTech Research,2009,1,103-116

14. Indian Pharmacopeia 2007, Goverenment of India , Ministry of Health and Family Welfare. Published by the Indian PharmacopeiaCommision, Gaziabad, Vol 1:132, 134, 138, 141, 163

15. Aevedo J S, Vianajunior N S, Soares C D. UVA/UVB sunscreen determination by second-order derivative ultraviolet spectrohotometry.Farmaco,Pavia,v. 54, p.573-578, 1999

16.Ferial M. Abu-Salem, Hayam M. Ibrahim Antimicrobial Activity and Phytochemicals Screening of Jojoba (Simmondsia chinensis) Root Extracts and Latex International Journal of Biological, Food, Veterinary and Agricultural Engineering Vol:8, No:5, 2014

17. Brown, J. and K. Dwyer, The Jojoba Potential: An Overview, Proceedings from the Seventh International Conference on Jojoba and Its Uses, American Oil Chemists' Society, Champaign, IL, 1988

18. Christensen, M.S. and E.W. Packman, Skin Surface Softening Effects of Jojoba and Its Derivatives, Proceedings from the Seventh International Conference on Jojoba and Its Uses, American Oil Chemists' Society, Champaign, IL, 1988

19.Mehmet Musa Özcan1and Jean Claude Chalchat2Chemical composition of carrot seeds (Daucus carota L.) cultivated in Turkey: characterization of the seed oil and essential oil GRASAS Y ACEITES, 58 (4), OCTUBRE-DICIEMBRE, 359-365, 2007, ISSN: 0017-3495

20.Jasicka-Misiak I, Lipok J, Afarski PAD. 2002. Phytotoxic activity of the carrot (Daucus carota L.) seed oil and its major components. Journal Essent. Oil Bearing Plants 5, 132-134.

21.Mazzoni V, Tomi F, Casanova J. 1999. A daucane-type sesquiterpene from Daucus carota seed oil. Flav. Fragr.J. 14,268-272

22. P. V. Ravindra, and M. S. Narayan, Antioxidant activity of the anthocyanin from carrot (*Daucus carota*) callus culture; International Journal food science and nutrition: 2003, Vol. 54, No. 5, Pages 349-355

23. H.J. Rao, J. Clin. Diagnost. Res., 2012, 6(1), 130-135

24. Apostolos (Paul) K. Kiritsakis: Olive Oil, From the Tree to the Table, Second Edition

25Cardinali, A; Pati, S; Minervini, F; D'Antuono, I; Linsalata, V; Lattanzio, V (2012). "Verbascoside, isoverbascoside, and their derivatives recovered from olive mill wastewater as possible food antioxidants". *J Agric Food Chem.* **60** (7):

26. Somova L.I,Shobe F.O.,Ramnanan,Nadar A. Antihypertensive, antiatherosclerotic and antioxidant activity of triterpenoids isolated from *Olea europaea*, subspecies *africana* leaves;Journal of ethnopharmacology vol 84(23)pages 299-305 Feb 2003

27. Olive oil and the cardiovascular system", Mar'ıa-Isabel Covas, Pharmacological Research 55 (2007) 175–186. 2007. doi:10.1016/j.phrs.2007.01.010. Accessed September 20th, 2013

28. Haban P, Klvanova J and Zidekova E, Nagyova A Dietary supplementation with olive oil leads to improved lipoprotein spectrum and lower n-6 PUFAs in elderly subjects", Medical Science Monitor 2004 Apr;10(4):PI49-54...

29. "The U.S. Standards for Grades of Olive Oil and Olive-Pomace Oil", U.S. Department of Agriculture. Accessed September 20th, 2013.

30. A. Megahad and Omayma S. El Kinawy (2002). Studies on the extraction of wheat germ oil by commercial hexane". Grasas y Aceites 53 (4): 414–418

31. Eisenmenger, M., Dunford, N. 2008. Bioactive components of commercial and supercritical carbon dioxide processed wheat germ oil. J. Am. Oil Chem. Soc. 85, 55-61

32. An Overview of Vitamin E Efficacy. VERIS Research Information Service, November 1998

33. Farrel PM, Robert RJ. Vitamin E. In Modern Nutrition in Health and Disease, 8th ed. Lea & Febiger, Phil.;1994:326-341